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FINANCIAL ACCOUNTING-II

Paper–BC-201

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions. Q. No. 1 is compulsory.
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1. Compulsory Question 
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Explain following :

(a) Various types of branches.

(b) Difference between hire purchase and purchases.

(c) Accounting treatment of interest on drawings.

(d) Calculation of sacrificing ratio.

(e) Joint life insurance policy. (4×5=20)
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2. Journalise the transactions for debtors account with suitable
examples under stock and debtors method of branch account.

15

����������(�����-.�/����	� �� ������0���� �� ������(�����$��1
 ��� ��� �����2.���	� ��� 3��'+(� 3 �������	� ��� *���� ������ ���	


3. Define Goodwill. Discuss various types of Goodwill. Give
journal entries for goodwill at the time of admission of a
new partner into the partnership firm. 15
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4. Differentiate between :

(a) Fixed and fluctuating capital accounts.

(b) Revaluation account and memorandum revaluation
account. 15
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5. On Ist January, 2018, A Ltd. purchased 4 cars from B Ltd.
on hire-purchase system. The total cash price of all the four
cars was � 7,15,000. The payment was to be made
� 2,00,000 on signing of the agreement and the balance in
three equal instalments of � 2,00,000 each at the end of
each year. B Ltd. charges interest @ of 8% p.a. A Ltd. writes
off 10% as depreciation on the reducing instalment method.
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A Ltd. could not pay the instalment due on 31st December,

2019 and seller took possession of all the four cars. Prepare

Ledger accounts in the books of A Ltd. 15
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6. KT Ltd having its head office at Delhi, invoiced goods to its

branch at Ludhiana, at 20% less than the list price which is

cost plus 100%. The cash sales were to be made at invoice

price and credit sales at the list price.
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Stock at invoice price on 1-1-2019 60,000

�,�"�� 
95�� ��� ���(���

Debtors � �� ��� on 1-1-2019 50,000

Goods received from H.D. at invoice price 6,60,000
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Cash sales ��� � �,��� 2,30,000

Credit sales �30��� �,��� 5,00,000

Cash received from Debtors 4,60,000
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Branch expenses �������� ��� L��� 85,000

Remittances to H.O. �
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Stock at invoice price on 31st December, 2019 88,000
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From the above particulars, prepare Branch Stock account,

Branch Adjustment account, Branch Debtors account and

Branch P/L A/c for the year ending 31st December, 2019.
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7. The following in the Balance sheet of A, B and C who were
equal partners :
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Balance Sheet
as on 31st December, 2019

Liabilities Amt (�) Assets Amt (�)

Capital ������� A 1,68,000 Building �	
��� 1,95,000

             B 1,26,000 Furniture ��
������ 24,000

       C 60,000 Stock ������ 1,14,000

Creditors �����
�� 60,000 Debtors 1,16,000

B/P ��������� 33,000 Provision  8,000 1,08,000

General Reserve 70,000 Cash ����� 66,000
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Employees savings 30,000 Bank ������ 40,000

�����
���
������������

5,47,000 5,47,000

They agreed to take D into firm for 1/4th share on
1st January, 2020 on following terms :

���D������7
��
�	�;N@���-*������$��;�"����<�=>=>�����$���
���� (����� �'�� ����� ��(��O� �� �

(i) That D will bring in � 90,000 for goodwill and
� 1,50,000 as capital.
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(ii) That ½ of goodwill shall be withdrawn by old partners.
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(iii) That stock and furniture be valued at 90%.
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(iv) Building was valued at 120%.
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(v) Provision for Doubtful debts is of � 16,000 in all.
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(vi) A liability of � 10,000 be created for bills discounted.
15
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Prepare necessary accounts and new balance sheet.
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8. X, Y and Z were carrying on business with the following

assets with effect from 1-1-2019 : furniture � 1,80,000;

machinery � 7,20,000; cash � 1,00,000; debtors � 2,00,000

and liabilities nil. Their profit sharing ratio was 5 : 3 : 2.

Capital was also in the same ratio. Y died on 30th June,

2019. His son claimed his interest in the firm.
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(i) Interest on capital @ 5% p.a. upto date of death.
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(ii) He was drawing @ � 6,000 per month at the beginning

of each month. He was allowed to retain those drawing

as his share of profit.
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(iii) Interest on drawings in to be charged @ 6% p.a.
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(iv) They had separate life policies for which premium had
been paid by the firm : X � 5,00,000; Y � 6,00,000
and Z � 3,00,000. Surrender value for X's policy was
50% and Z's policy was 40%.
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(v) Goodwill was valued twice of the average profits which
were � 36,000.
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Prepare Y's legal representative account.
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9. PQR started a firm business on 1-1-2019 and sharing ratio
was 3 : 2 : 1. Their capital was � 6,00,000; � 4,00,000 and
� 3,00,000 respectively. The partnership provided for interest
on capital @ 10% p.a. During 2019 firm earned a profit of
� 3,00,000 (before providing interest on capital). The
drawings during the year were P � 1,00,000; Q � 1,20,000
and R � 80,000.

They dissolved the firm on 31 December, 2019. The assets
realised � 15,00,000 and Cash in hand was � 1,50,000.
Creditors were of � 4,20,000 which were paid off � 3,72,000.
Prepare necessary account to close the books of the firm.
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